

Pricing Proposal

Quotation #: 21657063 Created On: 2/24/2022 Valid Until: 4/8/2022

South Jersey Port Corporation

Account Executive

Chris Perks

101 Joseph A, Balzano Boulevard P.O. Box 129 Camden, NJ 08103 United States

Phone: (856) 757-4969

8 HW2-N14-1HF

Fax:

Email: cperks@southjerseyport.com

Ryan Baicher

14

\$398.21

\$5,574.94

300 Davidson Ave Somerset NJ 08873 Phone: 732-564-8514 Fax: 732-564-8078

Email: Ryan_Baicher@shi.com

All Prices are in US Dollar (USD)

Product	Qty	Your Price	Tota
PNM985RQZ New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	43	\$2,290.15	\$98,476.45
SISPM1040-582-LRT New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	27	\$1,646.05	\$44,443.35
WWT-P-3201W-156TB New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	1	\$24,980.72	\$24,980.72
WWT-P-3201W-80TB New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	1	\$17,748.68	\$17,748.68
Alpha 100 outdoor ups New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	10	\$1,230.82	\$12,308.20
workstation New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	3	\$2,326.31	\$6,978.93
ACP-800-T15-110-DDB New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	3	\$2,150.32	\$6,450.96

New Jersey Business Systems, Inc. - Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI

9	Hanwha Ethernet extender New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	24	\$217.20	\$5,212.80
10	Genetec Access Control New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	1	\$5,005.83	\$5,005.83
1	SB-262210C-DDB New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	3	\$1,630.93	\$4,892.7
2	WAVEPRO48 New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	1	\$4,773.15	\$4,773.1
3	PNM8082VT New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	4	\$934.15	\$3,736.6
4	PN9322VQP New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	1	\$3,736.57	\$3,736.5
5	lp1502 New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	2	\$1,810.04	\$3,620.0
6	Card Read dual bracket New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	4	\$825.38	\$3,301.5
7	Fargo DTC1250e Dual-Sided ID Card Printer New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	1	\$3,040.86	\$3,040.8
3	sfp muilti mode LC 62.5 nm New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	32	\$86.88	\$2,780.1
9	SM24TAT4X New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	1	\$2,389.25	\$2,389.2
0	920PTNNEK00000	4	\$571.97	\$2,287.88

New Jersey Business Systems, Inc. - Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI

1	SBP30KMW1 New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	46	\$45.75	\$2,104.50
2	SBP300WMW New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	43	\$45.75	\$1,967.25
3 .	ADV-SV300-1Y New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	3	\$651.61	\$1,954.83
	cap sbp-317HMW New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	43	\$43.44	\$1,867.92
5	mr52-s3 New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	2	\$905.01	\$1,810.02
6	42" monitor LED New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	2	\$868.82	\$1,737.64
7	24" monitors with ceiling mounted bracket New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	4	\$398.21	\$1,592.84
3	HID cards New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	2	\$724.02	\$1,448.04
9	Life saftey security pwr and box New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	2	\$651.61	\$1,303.22
)	NDR_75-48 MeanWell prwr sply New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	19	\$57.92	\$1,100.48
1	TV ceiling mounted bracket New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	4	\$108.60	\$434.40

32	SLA-2M2400P(2MP 2.4mm New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	4	\$65.16	\$260.64
33	Monitor wall mounted brackets New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	2	\$108.60	\$217.20
34	Power strips New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	20	\$9.77	\$195.40
35	HDMI exten 16' New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	2	\$65.16	\$130.32
36	acess control s battery New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	4	\$24.62	\$98.48
37	pole mount bracket New Jersey Business Systems, Inc Part#: Contract Name: Sourcewell- Technology Catalog Solutions Contract #: 081419-SHI	1	\$45.75	\$45.75
		_	Total	\$280,008.65

Additional Comments

Note: The New Jersey Cooperative Purchasing Alliance is a Service of the County of Bergen, County Executive James J. Tedesco III and the Board of Chosen Freeholders.

Please note, if Emergency Connectivity Funds (ECF) will be used to pay for all or part of this quote, please let us know as we will need to ensure compliance with the funding program.

Hardware items on this quote may be updated to reflect changes due to industry wide constraints and fluctuations.

The products offered under this proposal are resold in accordance with the terms and conditions of the Contract referenced under that applicable line item.